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Exercise 1

Use the formal definition of Big-O to show the following:
a. Given T(n) = n2 + 5n + 25, show that this is O(n2)











b. Given that T(n)=n2+n2log(n), find the Big-O upper bound based on the simplification rules and then show that it is correct based on its definition. 



















c. Given that T(n)=n3+n2log(n) find the Big-O upper bound based on the simplification rules and then show that it is correct based on its definition.
















d. Given that T(n)= (nlog(n)+n2) (n+log(n)) find the Big-O upper bound based on the simplification rules and then show that it is correct based on its definition.


Exercise 2

Given that T(n) = n 1/2, use the definition of Big- to show that T(n) is  ( lg n).
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Given that T(n) = 73n3+ 22n2+ 58 use the definition of Big- to show that T(n) is  ( n3 ).


